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Exam, Public Finance 
 

Mikael Priks 
 
This exam consists of three questions. The first and second question give 40 credits each and 
the last question gives 20 credits. p denotes prices and q quantities. To get full credit, you need 
to state and explain your results clearly. Good luck! 
 

Theoretical Tools of Public Finance (40) 
 

a) What is the difference between a utilitarian social welfare function and a Rawlsian 
social welfare function? 

 
b) Define the marginal rate of substitution. 

 
c) The demand of a good is given by p=600-2q and the supply is given by p=q. How large 

is the consumer surplus? How large is the producer surplus? Which theorem 
characterizes this equilibrium? 

 
d) Assume that an individual has the following problem  
 
                                                          max

௫,௬
ඥ𝑥 ∗ 𝑦         

                                                                               
𝑠𝑡. 800 = 100𝑥 + 400𝑦 

                                                                                         
where 800 is her income, the price of good x is 100 and the price of good y is 400. Solve 
for the optimal level of consumption of goods x and y. How large is the individual’s 
utility in this optimum? 

 
Public Goods (40) 

 
a) Define the concepts altruism and warm glow. 

 
b) Assume that two individuals each has the marginal valuation MV=4-q of a pure public 

good. Show in a figure how the marginal valuation curves should be summed up when 
the government decides on the optimal level of public good provision. Why are the 
curves summed in this way? Derive and show in the figure the optimal level of provision 
if the marginal cost of building the public good is 4 per unit of production. 

 
c) The demand for a pure public good is given by p=100-2q. How much will be consumed? 

Explain the problem in this situation. 
 

d) Ben and Jerry will invest in fireworks, F, viewed by both and a private good, X. Each 
individual i has the utility U=2ln(Xi)+lnF where F is the sum of Ben’s investments in 
fireworks, FB, and Jerry’s investments in fireworks, FJ, so F=FB+FJ. The budget 
restriction for each of them is 100=Xi*1+Fi*1. In other words, their income is 100, the 
price of the private good is 1 and the price of fireworks is also 1. Solve Ben’s and Jerry’s 
problems and show how much of the private good and fireworks each of them will buy. 
Show also how the solution is different from the social optimum. Explain. 

 



Taxation (20) 
 

a) Define the tax wedge. What does full shifting mean? 
b) Why does taxation generate welfare losses? 

 


